INDUSTRIAL WEIGHING SOLUTION™

Digital Load Cell

WBK-D/DSB-D/CC-D/CT-D/LS-D

7IAE AR R AIE, MOoKE0lM ol 7SS 71X e,
it Mehao] Metet nyd/nEsio| 2EMS HSELCE

I CAS LOAD CELL

Ready-made product




DIGITAL LOAD CELL

CIX[2 2E42 242X S55, ADHER, SRS Zalst HXts|27} LIEE(0]
5H50ll &8sk= CIXIE MS(RS-485) SEILICL

DIGITAL & ANALOG LOAD CELL

o - Amplifier
- A/D converter

[ﬁgﬁtal J!li:L

Electronic circuit

Digital signal

ML LT

Strain gage

Load Cell

Analog Strain gage
ofgET 2eMe Mo 7zl skE S
OM[et MRt HetE &3 A|7|1,

0|A2 HZHE 2IC|AH0[E0IM X, A/D ek
LS Ao 2 EAISILICE

Digital signal

Analog signal

Indicator
(Amplifier & A/D converter, Microcomputer)

Load Cell

PRODUCT

sl CXE &3

» 300,000 7IRE & : .
» 0N A5 Hel =8 75

QF Lo|=0f et CIXIE &

> RS—485 CIXI= SAl WA

> QI 10| X0| HBIS 70| W] olof, Aol LOIS HABIoIE
> B742] SAI0| 7Ks (ZIch S41742]: 1,000m)

T
i}
=2
02
ool
S
£
mlo

2 CASLOAD CELL



PRODUCT READY-MADE PRODUCT

A7t el T V1S

> CXE 23S SOl 2EH JHE Jef e 2 95 ZUEE
> 2EM YoM 2dEl= 2 stz Eo

D B2

Ax| 80| & 2! 7X|24
» PC = CIX|E QIC|AH0|E{(C-200D & NT-580D)2f HZ5te 7H
» 13| A7t bIS 2t
> Hajst 224 ¥

DLC works (PC AZEQ|0{)

> CIX|Z =M X7t AR RIEt 7|
> AAZE A Hlo|E 24

» 27 HIOlE] X 715

> CIXIE A B 7ls

» ZHEHSE X2 71S(Multi scale XI2)

MX| ES 3|2 LHA (B2 FMIZ: WBK-D 2! DSB-D)
> Bl EE QIRo| MyIN SZOREE LS MAISIR BS (SHESHE: + 2kV) M,




PRODUCT READY-MADE PRODUCT
WB K_ D | Digital Compression
Load Cell
=SS
WBK-D CIXZ 2EMS XS X2 U T515S LR 2 5= st 80| Xesto
AHQI2A AR THAO| PES, 2 UH| LAZ 7|7 B 7T oM Hetstn
USH M52 SHELICHL E5h AEXt= CIXE &4 i Ecds JENo = Adst
Of ZITHel 4= UOM AR AAH K= Al A 2F HEHE, 2XE 2l /K7 =2
2EM X S2 &1 e a8 4~ JUSLIC
HIZAI
Capacity(R.L.) tf 10, 20, 25, 30
Maximum number of verification intervals(n) - 5,000
HZ&E=8(RO.) counts 300,000
M2 A counts + 300
H|ZIMH % RO. <0015
S|AH|IZIA|A % R.O. < 0.015
ZdIel= ofl2] % RO. < 0.015
=y % R.O. <001
32(308) % RO. <0017
= -3 % R0O./10C 0.014
2 F =
==k -2 % RO/10°C 0011
HEEZ 2EHA He c —10 ~ +40
> 2HEISH x| 2 ZRIER! QXjEaIe B4 b ¢ 40~ 470
» 026l CIX|E & —E|A& QI7pMef \Y% 6
> P68, ABZOl2]A AT RifElel oK U BE s e e v 9
» X7} A 2 7S : —Z|cH A7pHet \Y 24
» MX| 25 3|2 LHA HAXE MQ > 2,000
> ZHHSE SA1 21 Z25t CIX|E &3 AMS (RS485) 518 1isst % RC. 150
» DLC works (PC AZEQ)|0d) AR Y =5 - Stainless steel
SAlA - RS—485 (2wire)
Lo Kbit/sec 19.2
MEHAIQF Z|cH S HI-OIE Zo| _ m 1,000
» OLIME] HIE Warm—up Time from Cold Start minutes 15
Asynchrone Interface Baudrate Baud 9,600 ~ 115,200
Number of bus addresses - Max, 32
HEZ™
284 2-5SR250
2454 107

AI28x
S EEPC
> £ AAY

4 CASLOAD CELL

@54

\_Flexible Rubber T

.




PRODUCT

DSB_ D Digital Double Shear Beam
| Load Cell

g

B23

DSB-D CIX[E 2EHI2 X8 N2 Y H3, =1
5 LIA=ZAE MRO| P67 AR Z AbtEt gl

READY-MADE PRODUCT

= SELICL ABXH= CIXE &3S Soll EcAiS Exo= Hzsto] RTE
O, AlZ ANAE ME Al 24 =F L A BN, 2| M 20l 24 k|
= &0 ZHHSHH| aE 4~ USLICE
HIZAIY
Capacity(R.L.) tf 10, 20, 25, 30
Maximum number of verification intervals(n) - 5,000
HA=H(RO) counts 300,000
M2 A counts + 300
H|ZIMH % RO. <0015
TIPS % RO. <0015
ZHIRI= o2 % R.O. < 0.015
Hi=d % RO. <001
32(308) % RO. <0017
= k| % R0O./10C 0.014
2 F &=
==k -2 % RO/10°C 0011
HE=EXZ 2CEy e i —10 ~ +40
> 245t LRI B2 415 (RS-485) SIEEE B4 c 200
> TE5 C|X|E S —E|& Q7Y % 6
O| HEA/ HEX| T1X QI7pHet —XH Ql7pHef \Y 9
>IP67S| i/ YT —|c ol7pxiet v 24
» MX| 25 3|2 LA _ A
> 2B MR| U ARIEQI SX|RH2|Q} A axg MQ = 2,000
» DLC Works (PCAZEQ0]) 518 apest % RC. 150
TR o =Xt - Nickel plated steel
EAlERAL - RS-485 (2wire)
SMNaE kbit/sec 19.2
MEHAIQF Z|ch S41 #Hol= Zo| m 1,000
> =2 Efol ObMz Warm—up Time from Cold Start minutes 15
» = E[Ql OIN|IME] (S H|0|A =3 Asynchrone Interface Baudrate Baud 9,600 ~ 115,200
Number of bus addresses - Max, 32
HEEH
174
150 24
@97 56
‘ Saddle ‘ 46
Cable hold |
able holder 3
] | =113
O o »SH U3 AAY
O = O > 2 A
ﬁ.
n 8
o o 2
C D, °
I T T T
i L b
1 L 1 | 1 Q P L O
| |



PRODUCT

CC-D |

Digital Compression
Load Cell

READY-MADE PRODUCT

M=%
CC-DE Y& CIXIZ 2CMEN E3 A Y Y3/5H AAY SO AiZ AlAH0|
HeriLIch E5h AKX CIXE E=s Sal 2243 IHHEoR AZsIo Tl
QUM AZE AAH MEN Al 27| 27 S AR, 22X UM FF 20l 224 x| &
S #7 ZHutoh| 438 4 UaLICH
HIZAIY
Capacity(R.L.) kaf 20,50, 100, 200, 300, 500, 1K, 2K, 3K, 5K 10K, 20K
Maximum number of verification intervals(n) - 5,000
HzAZ2(RO.) counts 300,000
H|E A counts + 300
H|EMY % RO. < 0.02
S| AHZIAIA % R.O. <0.02
ZHRI= ofl2 % RO. < 0.02
g=d % RO. < 0.01
EERS) % RO. <0017
ecos —?_g,"é*, % RO./ 10:C 0.014
=4 % R0O./10C 0.011
e 2EHA HY c —10 ~ +40
HE5E sig2E el © 20~ +70
» ZHHSE HX[oF AXIFQ! FX|E4 —&[A QI7}HQ} % 6
» DFSHE 21 300,000 7H2ES| 1™U CIXEH &3 QI —={= olypEgt % 9
» ZHes SA 3l 2245t CIX|S 52 M5 (RS-485) 2ot 217k v 24
> O1= EfO) HAX|5} MQ = 2,000
> X7} e Tt 715 CERC % RC. 150
» DLC works (PC AZEQ|0]) =l al xt - i
» 2|t S41 742]: 1,000m WEE R Painted stegl
=H - RS—485 (2wire)
EMSE Kbit/sec 19.2
ﬂE_IM}?; Z|cH SA 7'||.0|§ o] . m 1,000
» 2C HIE E2! oMz Warm—up Time from Cold Start minutes 15
» = Efo] oAz Asynchrone Interface Baudrate Baud 9,600 ~ 115,200
Number of bus addresses - Max, 32
HEC™
2-F
D
B |
UL N ‘ |
— S 1 N s
—
=2 i T < i
A2EE ! |
> S 2 5 AHY \ : | o
»E AAY i i Flexible
== e . Rubber
Wl il ] [ | 1
20/50/100kgf 115 89 6 115 1.5 M12 x 1,25 38.5 38
200/300/500kgf| 115 89 5 115 1.5 M12 x 1.25 35 38 5
1tf 115 89 5 115 15 M12 x 1.25 35 38
2/3/5tt 148 89 9 115 1 M24 x 2.0 38.6 38
10tf 215 127 12 152 1.6 M39 x 2.0 75.6 38 10
20tf 290 165 15 193 1.6 M50 x 2.0 107.6 38

6 CASLOAD CELL




PRODUCT READY-MADE PRODUCT

c I D | Digital Tension
|
Load Cell
M=
CT-DE Q&Y CIX|Y 2eMaM M2/5H AAY S| AZF AR MEHEILIC,
E3h AIBAIE CIXIE S22 Sol 2EMS JiExoR HZsl0] ZILtE 4 Qo Az
AAE Rz Al 2| 2 2 ARIRE, SR 2 Q2 slol 204 D3| 58 H1 2

St e+~ ASLICE

I Ei= A

HIZAIY
Capacity(R.L.) kof 20, 50, 100, 200, 300, 500, 1K, 2K, 3K, 5K 10K, 20K
Maximum number of verification intervals(n) - 5,000
HHEH(RO) counts 300,000
H|E A counts + 300
H|ZIMA % R.O. < 0.02
GIES=EINES % RO. < 0.02
ZdRl= ofl2q % R.O. < 0.02
HtE M % R.O. < 001
EERS) % RO. <0017
erasy |~ %RO,/10C 0014
&3 % R0O./10C 0.011
ZE 2= EHe T —10 ~ +40
x‘“E=¥>I F22x He| C —20 ~ +70
» ZHHEH MX|9} ZAIERl SX|E4 —E|A olytues v 6
» T7FSHE 91 300,000 7HR2ES| T™YU CIXE & QI7pEet —X Ql7pmef \Y 9
» ZHHSH SA1 2 25t XS é‘. |§ (RS- 485) —Z|cf QI7PHef v 24
> Q1 Ef HoRIE MQ > 2,000
> X7} e Tt 715 518 a5t % RC. 150
» DLC works (PC AZEQ|0]) =l al xt - i
» 2|t S41 742]: 1,000m inTMEo Painted stegl
SHEA - RS—485 (2wire)
EM&E Kbit/sec 19.2
A{EH A Ok
EIAS | A1 Hlojg Zo| m 1,000
> 2C Q= OMMIAM2] (20~1K: M12 X 1.25) Warm-up Time from Cold Start minutes 15
of, =
> 2E A= AMIAE] (2~5K: M24 x 2.0) Asynchrone Interface Baudrate Baud 9,600 ~ 115,200
» 2C o= ObM|IA2| (10K: M39 x 2.0) Number of bus add - Mo 32
» 2 9ll= QHAIAE| (20K: M50 x 2.0) umboer addresses ax.

HE=H

2-F

Flexible
Rubber

20/50/100kgf 115 89 6 115 1.5 M12 x 1.25 38.5 38
200/300/500kgf| 115 89 5 115 1.5 M12 x 1.25 35 38 5
1tf 115 89 5 115 1.5 M12 x 1.25 35 38
2/3/5tf 148 89 9 115 1 M24 x 2.0 32 38
10tf 215 127 12 152 1.6 M39 x 2.0 75.6 38 10
20tf 290 165 15 193 1.6 M50 x 2.0 107.6 38




READY-MADE PRODUCT

PRODUCT

LS-D |

EAE LOAD CELL
TYPE:

Digital Pan Cake
Load Cell

MS2S

LS-Di= TIRIZ! BA] Efe) 2eM2I AE3/0IEE 25 HR0| JlSsin, 51 U
3 A7 S0l Az AIAE 2 OIsY/RIE2 Al lof &EEIC

E5 AIBALE CIXIE S22 S5 2EMS JHEoR 250l FIEHE 4 oo A
AAR HZE Al S| 28 2 ARSI, SHE 2 99 Siol 24 2H 52 ¢ 2

St tE 4~ ASLICE

X

HSAHE

1,2,3,5, 10, 20, 30, 50, 100, 200, 300

Capacity(R.L.)

ifm_? oo sy 90 Maximum number of verification intervals(n) - 5,000
- HHZ(RO)) counts 300,000
|2 WA counts + 300
H|Z|MM % RO, <002
SIAHEIAIA % RO, <002
ZHiI= ofl2{ % RO. <0.02
=E x| =y % RO. <001
HZSE 32(302) % RO. <0017
» ZHESH MX|Qt AXIXRl RX|H4 =5 o .
» DEske 3 300,000 7KRE0| N CIX 53 esea 2 e oo
» I|Z2stE1t 2l30)| 48t 1= = — .
> 2HESE S 8 2Bt IR/ 52 A5 (RS-485) == c 10~ +40
» IR/ EfQ) SI82c He| c —20 ~ +70
> X7} e Tt 715 —Z|A Ol7}Eo} v 6
» DLC works (PC AZEE2[0]) bt | -HF elytiet v 9
> 2|cH EA1 742]: 1,000m —Z|cf QI7pf v 24
HAXE MQ > 2,000
518 2pES % R.C. 150
A Y =X - Painted steel
MEHALQF N - RS—485 (2wire)
» Q1= Ef0l OlM|AME] EMNaT Kbit/sec 192
» QIZEERL QfM|AfZ] Z|ti SAl #H[0lE Zo| m 1,000
> = Eted ofMIMR2| Warm—up Time from Cold Start minutes 15
Asynchrone Interface Baudrate Baud 9,600 ~ 115,200
Number of bus addresses - Max. 32
e
_ »
PCD"I”
V)
A2 EE —
> S 3 B3 A
» QTR AIRA7|
) BA ) Flexible Rubber
P e
. i ==
o il e
Ja AN
1/2/3tf| 112.0 | 46.0 40 1415 8-@7.1 97.2 M16 x 2.0
5t | 1200 | 460 | 4.0 149.9 8-79.0 103.2 M18 x 1.5
10tf | 138.0 | 60.0 | 11.0 169.5 8-g@11 117.6 M24 x 2.0
20/30tf| 184.0 | 80.0 | 21.0 1o | 380  ego | 218 8-g14 157.6 M39 x 2.0
50tf = 200.0 | 60.0 | 11.0 : : ' 2345 12-@14.5 170.0 M45 x 3.0
100tf | 278.0 | 900 | 20 314.3 16-716.3 229.0 M70 x 3.0
200tf | 3550 | 108.0 | 35.0 392.2 12-@26 298.0 M90 x 3.0
§ CASLOAD CELL 300 | 355.0 | 1080 | 35.0 392.2 12-g328 298.0 M100 x 3.0




ACCESSORY

READY-MADE PRODUCT

HEEH (WBK-D)

190

140

2-M6x 1.0

|
\
I
|
|
| &
By- pass strap i
i ; 2
e ™M)
| = e
|
Dust cover N Flexible Rubber 1
L | ]
T
| 4-@20 Thru ‘
3 /" 2Places ] . 9
| | ! . | \
L ‘ L l | l l |
| \
140 100
| | | |
190 150
HZx=H™ (DSB-D)
250 ‘ ‘ 200
170 100
| | |
ol L I | T
= | L
2 218
Steel ball 76.2
wn
N ) 0
] o fli=l==} O
5
= | I O O I
in L L1 T T
o~ I ‘ I I ‘ I I | I I | I
L - L L - L L T L L T L
- | 180 | ‘ | 140 |
250 200
. ! — —
| | | | |
wn
@ O o O
e 9
SAH|0|A 5 » 3 O —
(G
@) O
AL
m
| Lo Lo Lo Lo
I I I I I I I I
135 115




ACCESSORY READY-MADE PRODUCT
HEZH (CC-D)

| G 4-gL Thru
I | I | C HE
‘ J‘ ‘ ‘ ‘ H “A/ 2-Places PEE HE
g L | L
| | ﬂ%% | —H 1 ILEQI = | 20kgi~1tf| 153.7| 100| 77 [100| 77 | 15 |100| 77 |100| 77 | 15 | 8
l s ] l T ] 2ti~5tf | 2103|130 | 105|130 105| 23 | 130| 105|130 | 105| 23 | 12
7“ == 1ot | 303 |160|125|160|125| 30 | 165|125 |165]125| 30 | 14
| | 20t | 375.5|200| 150|200 150| 30 | 200| 150|200 | 150 30 | 14
3 ‘ By
‘ ) | Jhiiin=
| + ‘ +H
‘ ‘ Flexible
) Rubber
- e ! L g
I [ | ]
I 1 j —— I
| ‘ L | ,ﬂ| ‘ L |

>= Et
20kgf~1tf| 175 |100| 77 [100| 77 | 15 |100| 77 |{100| 77 | 15| 8 | 8 | 15
2tf~5tf | 252 [130/105(130({105| 23 12
it 10tf 333 |160({125/160|125| 30 [130({105|{130|105| 23 | 12 14 30
! 1 20tf | 375.5|200|150/200|150| 30
\ i
Il
\ . ¥ | el
| | =
‘ b ‘ Py Flexible
‘ ‘ Rubber
l L fii J 4-gM Thru
L [ L
T “ g0 P H
| 1 il i 1 H
| | | e
D | B
»ZC A=
20kgf~100kgf | 249.0 ~ 254.0 | 215.0 ~ 220.0
340|16.0| 120|120 | 154
200kgf~1tf | 255.0 ~ 260.0 | 221.0 ~ 226.0
2tf~5tf 525.0 ~ 530.0 | 423.0 ~ 428.0 |{102.0| 28.0 | 27.0 | 22.0 | 25.8
10tf 680.0 ~ 685.0 | 545.0 ~ 550.0 |{135.0| 40.0 | 38.0 | 39.0 | 45.0
20tf Order—made
+ <+
<= i
-+ 4
[ il ] ( i ]
U U J
QlsT- ! -

10 CAS LOAD CELL



ACCESSORY

HIZxH (LS-D)

READY-MADE PRODUCT

oc
4-gHThru oD
=
K | Zom | |
i
‘ CE e
<| o ] } .
T *h
|
| - ‘\T‘ o |
[ ! Bl
i ! i ‘ i ! i
4-¢l Thru /‘ F ‘

T
4-9G Thru /

OF

=E

oC

4-gHThru

1tf~3tf [ 136.0| 90.0 21.0
210 x 130 | 185 x 105 12
5tf 145 | 99.0 30.0
130 x 130 | 105 x 105 12
10tf 166.0|113.0 160 x 160 | 125 x 125 | 30.0 1
20tf~30tf | 196.0 | 143.0 200 x 200 | 160 x 160 | 30.0
50tf~ Order—made
>EC HE
1tf~3tf 105 | 59
130 x 130 | 105x 105 | 210x 130 | 185x 105 | 12 | 12
5tf 107 | 61
10t 140 | 80 | 160x 160 | 125x 125 | 160 x 160 | 125 x 125 14 14
20tf~30tf | 175 | 115 | 200 x 200 | 150 x 150 | 200 x 200 | 160 x 160
50tf~ Order—made
PEE Q=
1tf~3tf 216.7 (Max) 170.7 (Max) 50.0 21.0 18.0 16.0 19.3
5tf 257.0 (Max) 197.0 (Max) 60.0 23.0 22,0 18.0 21.9
10tf 430.0 (Max) | 328.0 (Max) | 102.0 | 28.0 27.0 220 258
20tf~30tf | 558.0 (Max) | 423.0 (Max) | 1350 | 40.0 38.0 39.0 45.0
50t~ Order—made




APPLICATION READY-MADE PRODUCT

TRUCK SCALE

Overall view

Vi
Detail view Detail drawing

Vehicle weighing

RS Ao A&t CAS CIX|E 2REMS C|X|E
s 0[5t MX|, AR RXEAE MEELIC
ol Lz 25 5|22 Esl, R SHE0M ARR0| 7K

I A o B AleiA, A UED S

12 CAS LOAD CELL



READY-MADE PRODUCT

APPLICATION

Vehicle weighing

CAS CIX|2 2EH0| FAIE RIZE AAHY2 G| HIZLAES 2l 2H7 2282 MSELICH

CIX|E IC|#H[0lE]
(Cl-200D)

C]AZa[0|

CIxIE CIxIE 2oz
EI B AAH

CIX|& 21C|#|0IE{(CI—200D Al2|Z)
CI-200D Al2I EixI= QIEiAlolEf= C-200 2ITADIE S| CIIZ HHOE CAS CIXIZ 2= S QICIA0|EILIC,
9tm Aft LED(25mm) / LCD(24mm) CIAZ 0] 2 A1 |/57He] 715712 Sl 272t 201 % 715 30| Solgiict,

LTy

HEEY

» Digital Weighing Indicator

» LED (CI-200D), LCD (Cl-201D)
> IXP7| & Cidet 7|s7| &8
» RS—232C ZE: 17}

> ESAHUR XTRRIEL 7|5

» Z2d: DC OlEH % SXX|




APPLICATION READY-MADE PRODUCT

HOPPER SCALE

Overall view Detail view

Detail drawing

LHE AIZ AL 2 H-SH, W3, AILE AHY

CAS CIX|Z ZEMS 51 & 83, ARIZAA|Y 50| Aeig A AL

14 CAS LOAD CELL



APPLICATION

LURE AR AlAH>

CHtSH 82H(20kg~3001)2| CAS CIX|Z 242 TS Al0|Z X ool &3 9 Al2, Smo| AZo| 0lstA| FLict
TS NT-580D CIX|E QICIAOIE(ZEERN)E Safl, ARz MU Al AIARS HOt Helstn HalstA MojE 4 U&LCH

e
BAA

CIxIE

i/
zcy

QIC|A|0|E{
(NT-580D)

CIXIE 2IC|#[0]E{ NT-580D

NT-580D CIX|E QIC|A0Ef= NT-580A2| CIX|E HH 2= CAS CIX|E 224 AAE QIC|AH0[E{ LC.

7A12| DMB= VD H 6X12|2| 7|S7IE Sall TR el & 7|s &0l ol

CESH CHFet QIEI|OJA(MEHAIRS)S XIRSHH B AR—OIMPE SH X B3 SO MU AZE AIARVIX| st AlZE etdoll Mttt

=

HEEY

» Digital Weighing Controller

» RS—232 ZE: 27H

> 9I2 aijo| ol/E3: ol —67H / £ - 870

| cas.... =y > XP7IRIEE 715
. =k % > Analog out (AE#AIRS): |-out (4~20mA) or V-out (0~10V)
——rr— | MegAL
mm;\ﬁ » 4~20mA or 0~10V, RS-485
gl > TAARS | e : | ¥
\L‘ , Agss
> S A
> E2] A7
> S AU
> Ei5 AHQ

READY-MADE PRODUCT



MAF=LX|H

o
Z7|= UFA| FEE Tl 19|
Tel : 031-820—1100

MEgYL
MEA| 23S QLS 440-1 7+AB/D
Tel : 82-2-2225-3500

HorHAA
SYHE TR §YS 336
Tel : 041-621-1015

seigpis
Z7|= 3HdA|l 53 11002 At 4
Tel : 031-8015-4295

1

fo

Oy

Fojges
7 /A Y45 404-7H1x|
Tel : 054—476—6353

CAS OFEIAH|AMIE]
MNEA| M= OHAtS 770-3HX| 15
Tel : 02—2281-8454

MHIAMIE]

CAS TEAMH|AMIE|
MEA| F2T A2 1258HX| F2EY |FSHX| 2t5 17295
Tel : 02-6679-5567

QI
OIHZA| ST Oi4 55 88014 HEWE 25
Tel : 032—434—0281

CHEXIE
CHEHEHA| S5 8XS 49-5
Tel : 042-672-1016

X
T2 SAl S+ Bt 35 33621
Tel : 053—356—7111

HEX|H
HFA| ST 0{2)S 8711
Tel : 063—211-4661

B _
NI NES) LA FAT =XE 380-11

Tel : 062—363-0262

SHXH
SAZAA| HT &S 1631-9HX|
Tel : 052—267-3626

ORAERIY
Zi HRN| DIMBIRIT USS 174-20 25
Tel : 055—255—-4371

£3x/H
Tt 27| SIS 15187 25
Tel : 061-725-0262

HAMXIH
SEARLSAl AT NS 142-9 15
Tel : 051-313-3626

ez sole IS



